670

Vs

N BBERETE 50\ FUMDn
UL;‘S;;:(]EE& / Through-type Terminal Block

T4 —=IVRTAY) TRk
E v F . Pitch 16mm

v | UF2059ET2-PKCT

'O
ting ACE00V  60A

HEF I HL 500V 1000MQ LI E
Insulation Resistance | DC500V  1000M<Q and over

i & £ 3000V 1 4FERE
Withstands Voltage |[AC3000V 1 minute and over
10 B S B 6-12AWG
A 20 Compatible Wire
+1.0
6.5 B -20 6.5 —#% /N7 General Tolerance +0.5
17 __16 13 3 | R/ Scale 4 A%, Unit mm |
=7y 1] - i 0
= 0 1} Lo
} i J\- J\- || J\- | ﬁ o
| %’\ .%’. N, I\% §> \g [ v
| Bi:E
22
0 16
LA 15
&0 , Ll , fiam) ch
— ‘] E } L — % == —
= L] A s [dm e | |
——= [ — Lo |:| 1
N NN (I IS O i i <
I I [ I I | NN SH 1@ @ 5 =
7T I | [ I I [ R % N
COE I\ 179 E
@ T | L | | [ o I
L L] L] <
ol A
C 30 20.6 18
-
® S | A | —— (4% P.
® Ordering Form : type No. No. of Poles (P) A-AlbriniX]

o fEMLE A L fififF bV 2 132.4-4.0N-m T,

® Connection : Tightening torque is 2.4—4.0N-m

o N N—RURTHESWIEA 7> a v &n ) FTOTHEXOBIEE T & v,

® A cover and the marking strip are optionally available.

® 7y N — F 721 T H T A L OBIITE T EARR I -CT L721d PKTEFIFEA < 728\

® To obtain a cover or a marking strip, and “~“CT”or “PKT"” at the end of the ordering form.

® Iy N — R UL e B B I A E OB T ERB I -PKCT EMIGE AT S o AN = RURLSH- U EAENT L TIAZL $95
® To obtain a cover and a marking strip, and “PKCT” at the end of the ordering form. The cover and the marking strip will be delivered separately.
o ik —MEIEEM. 74—V RTAYY vy (BB

® Application : General industrial. Field wiring

B {t4,Specifications.
&, Part No. % #,/Part Name &, Material #1% / Standard ~Hi&/Size 4L Treatment fis %,/ Remark

1 A (A) Base (A) PBT UL 2 Black
2 H:A(B) Base (B) PBT UL B Black
3 HAR(C) Base (C) PBT UL Bt Black
4 SEEAR Terminal #f  Brass C2680P WE t2.0 =9V 9% Nickel-Plated
5 FERLE A Screw #  Steel SWCH/SPCC M5 X0.8X12 ¢ | Zy7hAv% NickelPlated | 7= ¥ A Typel2)
6 AT vh Hexagon nut #  Steel SWCH M5 X0.8 IR} Trivlent chromate Treament
7 HAERVE  Connecting bolt #%  Steel SWCH M3 X0.5X ¢ ZH703h Trivelent chromate Treament F X
8 kYR Connecting nut #  Steel SWCH M3 X0.5 =I5} Trivelent chromate Treament
9 FLFE S Marking strip | FYA—F AP Polycarbonate UL MIE 1.0 Ffs  White # 73~ Optional
10 A IN— Cover RYH—KAAM  Polycarbonate UL WE 1.5 3EW Transparence | 473 3~ Optional
11 AN=1EHE R Cover Retaing screw i Brass C2700W PWM)C?’AXZO;?E —?yﬁ’,e ® | =VrVAv% NickelPlated | 4 7' 3 > Optional
12 ANFF YR Hexagon nut #  Steel SWCH M3 X0.5 ZH03=} Trivelent chromate Treament

1B Poles 2P| 3 4 5 60 7 8 9 | 10 | 11 | 12
A 63 79 95 | 111 | 127 | 143 | 159 | 175 | 191 | 207 | 223
B 50 | 66 | 82 | 98 | 114 | 130 | 146 | 162 | 178 | 194 | 210
o] 35 | 51 | 67 | 8 | 99 | 115 | 131 | 147 | 163 | 179 | 195




